
 

 

Installation Guide 

WWW.PLUGINOPTICS.COM Doc. No. 216-MBv2, October 2024 

PLO-U-MMPED-KIT 

ADJUSTABLE 2-POST PEDESTAL BRACKET KIT FOR MAG MOUNT 

 

 

 

 

 

PEDESTAL BRACKET KIT 
The Plugin Optics Pedestal Mounting Bracket Kit was designed to facilitate the mounting of magnet mount chassis (part number 
PLO-0RU-UMC-2LGX) into most 2-post pedestals. This kit contains two mounting brackets, all the hardware you need and is 
adjustable from 8-inches to 14-inches. Once installed, additional magnet mount chassis can be added using the magnets to 
attach additional magnet mount chassis where applicable.  

Kit Includes 
• Qty 2, “L Brackets” 
• Qty 4, Panhead Carriage Bolts, M6 x .5-Inch 
• Qty 4, Panhead Carriage Bolts, M6 x 1-Inch 
• Qty 8, Hex Bolts, M6 
• Qty 8, Flat Washers, M6 

 

While designed for 2-post pedestal installation this bracket can also be 
installed on customer site wallboards, cell site access cabinets, network racks or anywhere LGX solutions are needed. LGX 
solutions can include CWDM, DWDM, bulkhead adapters for fiber distribution, and splice-in pigtailed LGX solutions. 

INSTALLATION  
The following instructions are meant to act as guidelines only. Please observe all company safety and installation procedures 
when completing the installation. 
   
MAGNET MOUNT INSTALLATION 
• Begin the installation of PLO-U-MMPED-KIT by loosely attaching 

each bracket (2) to the magnet mount chassis (PLO-0RU-UMC-
2LGX) using two .5-inch carriage bolts, washers and hex nuts.  

• Place the assembled kit and mag mount chassis into the desired 
mounting location, extend the brackets to the mounting points, 
and snug down the hex nuts.  

• Once in the desired location, align the mounting holes with the 
pedestal post mounting slots and attach the assembled bracket kit 
and magnet mount to the posts using the included 1-inch carriage 
bolts, flat washers, and M6 hex head bolts. Ensure all hex head 
bolts are tight to bracket and post as well as to the magnet mount 
chassis. 

• If there are no existing mounting holes, ensure that the assembled kit is level and mark each post to be drilled. Once 
marked, drill four .25-inch holes in the mounting posts and attach the assembled bracket kit and magnet mount to the 
posts using the included 1-inch carriage bolts, flat washers, and M6 hex head bolts. Ensure all hex head bolts are tight to 
bracket and post as well as to the magnet mount chassis. 

Pedestal Post Mounting 
Slots

Magnet Mount 
Mounting Slots

Magnet Mount Chassis
PLO-0RU-UMC-2LGX

Bracket A

Bracket B



 

 

Installation Guide 

WWW.PLUGINOPTICS.COM Doc. No. 216-MBv2, October 2024 
Subject to change without notice. 

 
SPECIFICATIONS 
 

TECHNICAL SPECIFICATIONS 

DESCRIPTION UNITS SPECIFICATION 

HEIGHT in (mm) 2.6 (66) 

WIDTH in (mm) 13 (330.2) 

DEPTH in (mm) 1.6 (40.6) 

MATERIAL -- .118 GALVANEAL STEEL 

FINISH -- POWDER COAT 

COLOR -- BLACK 

OPERATING TEMPERATURE °C -40 ~ +85 

STORAGE TEMPERATURE °C -40 ~ +85 

 

ORDERING INFORMATION 
The table below contains the ordering information for ordering complimentary pedestal hardware offered by Plugin Optics. If 
you have any questions, feel free to call the support number listed above or email us at cx@pluginoptics.com for more 
information. 

INSTALLATION SUPPORT 
If you encounter issues, please contact us via phone or email. Alternately, you can use the camera on your 
smartphone to scan the QR code below to review the latest product specs and applications or submit a 
contact ticket for support.  
 
PlugIn Optics Customer Support 
Tel: +1 (561) 612-5703 
Email: cx@pluginoptics.com 
 

ORDERING INFORMATION 

PART NUMBER DESCRIPTION 

PLO-U-MMPED-KIT ADJUSTABLE 2-POST PEDESTAL BRACKET KIT FOR MAG MOUNT 

PLO-0RU-UMC-2LGX UNIVERSAL MAGNET MOUNT, 0RU, 2 LGX SLOTS, WALL OR MAGNET MOUNTED 

  

NOTE: PLUGIN OPTICS OFFERS A FULL LINE OF HARDWARE TO DEPLOY WITH UNIVERSAL DISTRIBUTION PEDESTALS.   

mailto:cx@pluginoptics.com

	PEDESTAL BRACKET KIT
	INSTALLATION
	ORDERING INFORMATION
	INSTALLATION SUPPORT

